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1. The positions of the first and the second digits in the number 94316875 are interchanged. Similarly,
the positions of the third and fourth digits aro intorchanged and so on. Which of the following will
be the third to the left of the seventh digit from the left end after the rearrangement ?

1 ® 4 © 6 o 3
2. If the sign - & + and number 4 &  interchanges then which one of the four cquations would b

corract?

(A 6-8+4=-1 ®) 8-6+4= (© 4+8-2=6 ©) 4-8-6=2

3. Asot of figuros carry certain characters, Assuming that the characters in the st follow a similar
pattern, find the missing character.
206200 96 128 T8 T2 e 26 21

SRR

w6 ® 9 (© 12 (0 18

4. Analyse the following serles of figures P, Q, R, S, T and select the next figure which will continues

the series.

VT RE TV
?
AN N
BTV S ICRRRILTS MALT
v T U 2
@ | ¥ @ | © | X R
5. Find the minimum number of straight lines required to make the given figure.
) 13
(B) 15
© 1
©) 19

6. In the given question, there is some relationship between the two terms to the loft of : : and the

‘same relationship holds betwoen the two terms to its right. Find the missing term.

w % B

7. Choose the alternative which most closely resembles the water image of the given combination.
DISC

& cso ®) o210 (© oiec (0) Disc

8. Find the figure which contains figure X as its part.

® ﬂj w [N 1

N —
@ [ o [\ o
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i

Fig. 00

7=y
>
® @ ® [\,",J © ©
%

10. What comes next in the given pattern ?
10000, 11000, 9900, 10890,

® 1024 ® 10423 (© 10781 ©) o801

11, In the given question, group the given figures into three classes
using each figuro only onco.

- XY
W h23:456:7.89 _Z %
g4

@) 185:245:7.89
&

(C) 1.5:8:3.6,2:4,7.8

(©) 18,7:2.85:3.46

E B

12. Which of the following collections of ltters will look tho same in the mirror 7
(A) OSMIHOM (8) VHRTRVH () HIMOSTA (0) AOVIVOA

o[ 2o:

13. In a certain code language, BEAT is written as YVZG, then what will be the code of MILD ?
) ONRW (8) NOWR (©) ONWR (0) NROW

14, Pointing to a photograph, a man said, I have no brother or sister but that man's father is my father's
son”. Whose photograph was it ?

(8) Hisoun (8) His son

(C) His father (D) His nephew

15. In the given figure, P is 300 km eastward of 0.and Qs 400 km north of 0. Ris exactly in tho middle
of @ and P. The distance botween @ and R Is i

(&) 250km ryiad

® 2502k it

@) S East
(D) 350 km P

16. Study the following arrangement of the English alphabet given below :
FUMPOWRNBEYCKAVLDGXUHQISZT

Which lotter is tenth of the right of the latter which is exactly the midde ltter between F and D 7

@ o ® G © x © 8
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17, Two posiions of @ block ara shown below. Wha 2s at the bottam, which number will be a (he
top?
w1
® 4
©s
(0) Cannot bo determined

18, Find out which of the alternatives (A), (B), (C) and (0) will exactly make up the figure ().

&% L3
® Lj oo

19, The given quostion consists of a set of threo figures X, Y and Z showing a soquence of folding of
aplec of paper. lg. (2) shows the manner in which the folded papor has boen cut. Choose afigure
which would most closaly resemble the unfolded form of figure (2).

[EIEIE ]

20. Choose tho missing terms out the given al
TRPANL. 2,
® 4.6 ® 4K (© KH © Kl

SECTION'Il : MATHEMATICAL REASONING

21, The function £ R - R defined by f(x) = (x = 1)(x = 2)lx - 3) I8
(A) One-one but not onto (8) Onto but not one-one
() Both one-one and onto (D) Neither one-one nor onto.

22. The positive integral solution of the equation tan”x +cos

® x=1.

®) x=2,

se
23, The primitive of the function I(x)=(1-;',—)n fas0ls .
! xd xe

w et ) s’ © 2 g8 o i

24, Th
@ o

inglo of Intorsection of the curves xy = & and x' + y* = 24 i3 :
® 45 © o (©) Nono of these
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26. Aand B aro two indepandant ovents. The probability that both Aand 8 occur. :. 3 and tho probability

that neither of them occurs s . 3 Then probability of the two ovents are respectively

w 73 ® i1 © 34 o %1
27. Differential coefficient of 10gye x w.r.t. 1og,10 is
o tosg? to5, 107 _dop?
T, @ wr O oy ©) " (ogx?
. . . s
26, 1 [fxja =1, [xf(xde =a, [x*r(x)dx = a2, thon [(a-x71(x) cquats
s . ‘ 0
A 4a* ® 0 (€) 2& (D) None of these
5 1 (o8], it
s ® -5 © 2 ©) None of these
| 2 23 agea)
. 1M0= a p y . then the value of ED is
21 371 s°-q| o4
® o ® upy © arpry © w.2ep.3eyar
3 S:Qn"(i =5 is cqual to
!
w5

© i

7 intorsect, then k= _

(O ® 3 © o ) -1

35: The ganaral solution of diferential equation 5+5/(x) = o(x)y(x), whoro g (x) s a given function
ofx,ls
() 9#)+ logl1 + y + gt = ¢ (B) glx) + log(1 + y - g(x) = ©
©) at0)=logft + - gt ) Nono of these

. Ilm{—"

;
S

(2)

bl of3 "a)

4y
® n ® nf%)
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36. 1fthe area above tho x-axis, boundod by the curves y = 2° and x = 0, and x = 2 oo 5 the value

of kis .

w 3 ® 1 (5 © 2 |
37. Which of the following sets are convex ?

) (7 e g2 1) © (@ n:yzn

© ()i 3¢+ 4225 © (A :y22

38, [o"(1-cotx s cof? xax =
(&) o'cotx+ C (®)

cotx+C  (C) o*cosecx+C (D) ~efcosecx + C

38, The equation to tho normal to the curve y = sin x at (0, 0) Is
A x=0 B y= ©) x+y=0 (©) x-y=0

meets the

40. The distance botwaen the point (3,4, §) and the point where the line

planox ¢ y 4 z=17,0s __.
w1 ) 2 © 3 (D) None of these

SECTION [l ; EVERYDAY MATHEMATICS

41.On Ashok Marg three consecutive traffic lights change after 36, 42 and 72 seconds respectively.
1f the lights are first switchd on at 9.00 A M. sharp, at what time will they change simultancously ?
(A) 9:08:04 (8) 9:08:24 (C) 9:08:44 (D) None of thess

42. Aschool has students out of which 378 are girls students and 675 are boys. The school is divided
into strictly boys or sirictly girls sections. All sections in the school have the same number of
students. Given this information, what are the number of soctions in the school.

) %2 ® 3 © 27 © 4

t has 80 quostions. Thera Is one mark for the correct answer, while ther is a negative penalty
of =112 for a wrong answer and ~1/4 for an unattempted question. What s the number of questions
answered correctly, If the student has scored a net total of 34.5 marks ?

() 45 () 48

© s (D) Cannot be determined.

44. Ono sido of a staircase s to be closed in by rectangular planks from the floor to each step. |
The width of each plank is 9 inches and tholr height aro successivoly 6 inchos, 12 inchas, 18 Inches
and 50 on. There aro 24 planks required in total. Find the area in square foot,
® 128 (® 107 © 1 © 105
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[image: image7.jpg]45, One of the two students, while solving a quadratic equation in x, copied the constant torm incorrectly
and got the roots 3 and 2. The other copied the constant term and coefficient of ' correctly as
-6 and 1 respectively. The correct roots are
w 3-2 ® 3.2 (© 6.1 (D) None of theso

46. Atrain is going from Mumbai to Pune and makes § stops on the way. 3 persons enter the train during
the journey with 3 different tickets. How many different sots of tickets they may have had?

() #Cy (8) “C; ©) C; ) *C;

47. Out of 13 applicants for a job, there are § women and § men. Two persons are to b selected for
the job. The probability that at least one of the selected person will be a woman is __

w % ® % © 2 o 3

48. A carton contains 25 bulbs, 8 of which are dofective. What is the probability that if a samplo of 4
bulbs is chosen, exactly 2 of them will be defective?

1089 1004
" a5 (®) G35 © G5 (©) None of these

49, At the quarterly birthday party of Shorry, a baby boy, 40 persons choso to kiss him and 25 chose
to shake hands with him. 10 persons chose to both kiss him and shake hands with him. How many
persons turned out at the party?

3 ® 75 © 55 ©

50. The average presence of students in a class on Monday, Tuesday and Wednesday is 30 and on
Wednesday, Thursday, Friday and Saturday is 28, thon number of students who attended the class
on Wednesday, if the average number of students on all six days is 27, is.

© 20 (0) 40

SPACE FOR ROUGH WORK
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